Government intervention to correct market failure and government failure
Starter: Choose the correct answer and then explain why the other answers are incorrect.
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15  The table below shows possible sources of market failure in current UK markets.

Which combination of example and policy, A, B, C or D, is consistent with the possible source

of market failure identified?

Source of Example of Policy to correct
market failure market failure market failure

A Missing market Healthcare State provision

B Positive consumption Education Minimum price
extemalities

c Merit good Petrol Indirect taxation

D Negative production | 10 ctricity generation | Pollution permits
extemalities

16 The diagram below represents the market for an agricultural product.
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Government intervention 

In a free market, scarce resources are allocated through the price mechanism where the preferences and spending decisions of consumers and the supply decisions of businesses come together to determine equilibrium prices. The free market works through price signals. When demand is high, the potential profit from supplying to a market rises, leading to an extension in supply to meet rising demand from consumers. In general, the free market mechanism is a very powerful device for determining how resources are allocated among competing uses. The government may choose to intervene in the price mechanism largely on the grounds of wanting to change the allocation of resources and achieve what they perceive to be an improvement in economic and social welfare.
The main reasons for policy interventions are:

1. To correct a market failure.

2. To achieve a more equitable distribution of income and wealth

3. To improve the performance of the UK economy both domestically and on the international front.
Possible government intervention for Merit goods, Demerit goods and Public goods
Government legislation and regulation 

· Parliament can pass laws, for example prohibiting the sale of cigarettes to under 18s, or banning smoking in a public place or laws of the competition policy act to encourage lots of firms to enter markets and so therefore reduces firm’s ability to increase the price of their goods.

Direct provision of goods

· Because of privatisation, the state owned sector of the economy is much smaller than it was in 1980. The main state owned businesses are the Royal mail and Network Rail. 

· State funding can also provide merit goods such as Education and the NHS.

Financial intervention 

Financial intervention can be used to alter the level of demand for different products and also the pattern of demand within the economy.

1. Indirect Taxes – can be used to raise the price of demerit goods and products that generate a negative externalities in order to reduce the quantity demanded towards a socially optimum level. An indirect tax is imposed on producers, i.e suppliers, by the government Examples include excise duties on cigarettes, alcohol and fuel and also VAT.

2. A subsidy to consumers will lower the price of merit goods, for example EMA allowances to students in further education to reduce the private costs of education and subsidies to companies employing workers on the New Deal programme. They are designed to boost consumption and output of products with positive externalities.

3. Tax relief – The government may offer financial assistance such as tax credits for business investment in research and development. Alternatively, a reduction in corporation tax (a tax on a company profits) could be granted, to promote new capital investment and extra employment.
4. Changes to taxation and welfare payments can be used to influence the overall distribution of income and wealth, for example higher direct tax rates on rich households or an increase in the value of welfare benefits for the poor.
Maximum and Minimum price
 The government or an industry regulator can set a maximum price or a minimum price to prevent the market price from rising or falling below a certain level.
Interventions designed to close the information gap

 Often market failure results from consumers suffering from a lack of information about the costs and benefits of the products available in the market place. Government action can have a role to play in improving information. For example:-

1. Compulsory labelling on cigarette packets.

2. Improved nutritional information on foods to counter the risks of growing obesity.

3. Anti-speeding television advertising to reduce road accidents.
Monopoly 

Because monopolies have a large market share they don’t operate in a competitive market. This means that they can restrict output and raise price. However governments can intervene in these markets to restrict the activities of monopolies.

1. Regulation of quality of service - Regulators can examine the quality of the service provided by the monopoly. For example, the rail regulator examines the safety record of rail firms to ensure that they don’t cut corners.

In gas and electricity markets, regulators will make sure that old people are treated with concern, e.g. not allow a monopoly to cut off gas supplies in winter.

2. Merger Policy
The government has a policy to investigate mergers which could create monopoly power. If a new merger creates a firm with more than 25% of market share, it is automatically referred to the Competition and markets authority (CMA). The Competition and Markets Authority can decide to allow or block the merger.

3. Breaking up a monopoly.
In certain cases, government may decide a monopoly needs to be broken up because the firm has become too powerful. This rarely occurs. For example, the US looked into breaking up Microsoft, but in the end the action was dropped. This tends to be seen as an extreme step, and there is no guarantee the new firms won’t collude.

Correcting Externalities 
1. Tax producers and consumers that pollute, such as carbon taxes, or taxes on plastic bags; this is sometimes referred to as making producers internalise the external costs
2. Subsidising households or firms to be non-polluters, such as giving grants for home insulation improvements.

3. Selling permits to pollute which may become traded by the polluters.

4. Forcing polluters to pay compensation to those who suffer, such as making noise polluting airports pay for double-glazing.

6. Providing more information to consumers and producers, such as requiring that tickets to travel on polluting forms of transport, especially air travel, should contain information on how much CO2 pollution will be created from each journey.
7. Regulation: Instead of taxing pollution, why not just ban it? Or at least legislate to control pollution levels. For example, cars now have to do an emissions test when they go in for their MOT.

Structural unemployment 
Reducing occupational immobility: 

Immobility is a cause structural unemployment. Policies such as apprenticeship schemes aim to provide the unemployed with the new skills they need to find fresh employment and to improve the incentives to find work. In 2013, over 500,000 people started apprenticeships in the UK.
For many years the poor quality of work-place training has been a concern, with evidence of a persistent skills-gap in the UK. In a report published in 2011, a trade union reported that 11% of British adults do not have any qualifications. In some areas such as parts of Glasgow and Birmingham, more than a third of people of working age have no qualifications.

Reducing the geographical immobility of labour

Many people have the right skills to find fresh work but factors such as high house prices and housing rents, family and social ties and regional differences in the cost of living make it difficult and sometimes impossible to change location in order to get a new job. Many economists point to a persistently low level of new house-building as a major factor impeding labour mobility and the chances finding new work.

Often unemployed is more concentrated in certain regions. To overcome this geographical unemployment, the government could give tax breaks to firms who set up in depressed areas. Alternatively, they can give financial assistance to unemployed workers who move to areas with high employment. (e.g. help with renting in London)
Some Economists argue that government spending on transport infrastructure can be used to make commutes feasible or more affordable.
Income and wealth inequality 
Taxation. Taxation can be categorised by their incidence as a proportion of income. While progressive taxes, such as income tax, take a higher percentage of the wealth of the rich to make distribution more equal. Regressive taxes in taxes have the opposite effect.
Monetary benefits. Monetary benefits are of two types – means tested and universal. Means tested and universal. Means-tested benefits, for example working families tax credits (WFTC), are available only to those families that can prove that their income are below a certain level. Universal benefits are available to everyone in a particular group regardless of income. 

Legislation and labour market policy. The introduction of a national minimum wage in 1999, anti- discrimination legislation and government subsidizing serve to reduce income inequality. Also, measures to reduce unemployment may benefit low income families.

What is Government failure?

Occurs when government intervenes in a market to deal with a market failure but in the process creates further distortions in the market. Very broadly Government failure occurs where the intervention makes the situation worse not better.

For example, Governments might want to intervene the private sector to make rents more affordable by imposing a price ceiling (A maximum price that landlords can charge) however this may lead to landlords restricting the amount of properties for rent in the market. In this scenario tenants go from a situation where rents are too high to a position where there a few properties too rent!!!

Activity 1: Suggest why the following governments might lead to government failure.

	Government intervention
	Possible Government failure

	In the mid-1990s the Government was concerned that too much waste was not being recycled. The government decided to place a tax on firms and individuals who used landfill sites. 


	

	The Government decides to limit monopoly power strictly regulating the market share that each company is permitted to have.


	

	The Government is worried that there is too much underage drinking. It decides to introduce a minimum price per unit of alcohol. Which effectively raises its price.


	


Extension activity 

Identify the market failure  in the examples above and suggest an alternate policy to correct the market failure   .……………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………

Causes of Government failure 

Even with good intentions governments rarely get their policy applications right. They can tax, and regulate but the eventual outcome may be a deepening of the market failure. Government failure may range from the trivial where government intervention is ineffective to cases where the problem creates new and more serious problems that did not exist before. The consequence of this can take many years to reverse.

1. Policy Myopia – Critics argue that Governments tend to look for quick fix solutions to often difficult problems. For example a solution to traffic congestion might not be to build more roads, and bypasses. However this may only lead to even greater demand for road use.

2. Policy decisions based on imperfect information – How do politicians know what its citizens want it to do? It’s very difficult to discover the true revealed preferences of the total population. 

3. The law of unintended consequences – This law lies at the heart of many of the possible causes of government failure in markets. The law of unintended consequences states that actions of consumers, producers and especially governments always have effects that are unanticipated or unintended.
People find ways to circumvent laws, shadow markets develop to undermine an official policy and people act in unexpected ways because of ignorance and/or error. Unintended consequences can add hugely to government programmes so that they make them extremely expensive when set against their original goals and objectives.

4. Cost of administration and enforcement – The estimated social benefits of a particular policy might be considerably outweighed by the administrative costs of introducing it.
5. Conflicting objectives – At a macroeconomic level, it is possible that the policy objectives of government may not be compatible. For example, a government wishing to reduce unemployment by stimulating total demand in the economy may generate inflation if the supply capacity of the nation is limited.
Activity 2: Using the information above suggest possible causes of Government failure in the scenarios below. More than one cause may apply in each case.

	Government failure
	Cause of Government failure

	Banning smoking inside public places increased disorderly conduct in streets. 


	

	Raising taxes on cigarettes encourages suppliers to smuggle cigarettes into the country to avoid paying tax


	

	By raising a tax on the use of landfill sites the government finds that firms and individuals are dumping waste on open land.


	


	Type of Market failure 
	Consequence of Market failure
	Example of government intervention
	Possible government failure

	Factor immobility

	Structural unemployment
	
	

	Public goods

(missing markets)


	Failure to provide a good or service
	
	

	Demerit goods


	Over consumption of a good with negative externalities
	
	

	Merit goods


	Under consumption of goods with a positive externalities
	
	

	High relative poverty

Income inequality


	Low income families suffer from social exclusion


	
	

	Monopoly 

(or Collusion with Oligopolistic markets)


	Higher prices for consumers causes loss of allocative efficiency
	
	

	Negative externality caused by polluting factories.


	Health problems inflicted on 3rd parties 


	
	

	Negative externality caused by over fishing of North sea


	Depletion of fish stock 
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